
■ 次のたし算をしましょう。

① 145 + 799 = ⑭ 593 + 362 =

② 197 + 693 = ⑮ 618 + 823 =

③ 758 + 203 = ⑯ 539 + 628 =

④ 389 + 811 = ⑰ 822 + 775 =

⑤ 832 + 265 = ⑱ 957 + 149 =

⑥ 260 + 179 = ⑲ 819 + 184 =

⑦ 849 + 616 = ⑳ 879 + 441 =

⑧ 328 + 610 = ㉑ 922 + 730 =

⑨ 721 + 424 = ㉒ 625 + 444 =

⑩ 503 + 903 = ㉓ 988 + 532 =

⑪ 709 + 869 = ㉔ 312 + 962 =

⑫ 825 + 679 = ㉕ 153 + 256 =

⑬ 441 + 286 = ㉖ 208 + 294 =

たし算の暗算
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■ 次のたし算をしましょう。

① 145 + 799 = 944 ⑭ 593 + 362 = 955

② 197 + 693 = 890 ⑮ 618 + 823 = 1441

③ 758 + 203 = 961 ⑯ 539 + 628 = 1167

④ 389 + 811 = 1200 ⑰ 822 + 775 = 1597

⑤ 832 + 265 = 1097 ⑱ 957 + 149 = 1106

⑥ 260 + 179 = 439 ⑲ 819 + 184 = 1003

⑦ 849 + 616 = 1465 ⑳ 879 + 441 = 1320

⑧ 328 + 610 = 938 ㉑ 922 + 730 = 1652

⑨ 721 + 424 = 1145 ㉒ 625 + 444 = 1069

⑩ 503 + 903 = 1406 ㉓ 988 + 532 = 1520

⑪ 709 + 869 = 1578 ㉔ 312 + 962 = 1274

⑫ 825 + 679 = 1504 ㉕ 153 + 256 = 409

⑬ 441 + 286 = 727 ㉖ 208 + 294 = 502

たし算の暗算
年 組 名前

/26


